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ava;labie asxd the amount oflanda farmer has for crops are exam;ﬂes of éonsizamts that can be
 Tepr esented usmg mequaht}.&s Broadcasﬁng an infinite numbet of aflvertisements ismota
In straint: wxﬂ be based adv 'budget

. ;-purchased fo maximize fhe number of peopie who wﬂl be reached by the advertxsements'? o '

X fﬁo%mdaﬂ\d%
Sy = # of TYAde

Mfodeﬁﬁg ‘tlil-é-'f;i‘obleiﬁ:: ,
~ LetXbe the mtmbef of radxo ads that are purchased and Y be the number of TV ads.

g 1 i Wnta down a lmear mequahty for the totai number of deszred ads
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Maximizing the Profit of a B

e met These relate to the fact that there
ments Wnte the two mequahtles that model

5 4 Next, write down the function for the m_lm_ber of peopie that w:li be exposed to the
advemsements TIns is the bjectrve_'}'*‘vnctzon for the problem.

iction. These together describe the
bjective function make up what is known -
Write all of the mequahtles and the
'tten asa hst of constramts with the
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'_x‘ta és.'of" thesc corners by solvmg thc appmpnate system of hncar cquatmns
4 work and Iabei the X, y) coordinates of the corners in your graph. ;
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8. Te ﬁnd winch numbﬁr of radxe and TV ads will maximize  the number of peop}e who are exposed to
- the’ busmessﬂadvemsements evaiuate thc objecnvc functwn P for each of the vertlces you found. -
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- Wrrte ofie parag:aph stating what ideas changeé and why If this pmJect did not change the way
you thmk, M‘ite how thzs pI‘OjCCt gave fm'thei evidence to support your existing opinion about
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